EARAROBEEIERT — 2 N— IBISH —F

20175 7H 138 (K) 7EIS%#2H

m*%%##ﬂﬂ 1 ¥5R3% (w8 | mEmml - |5 5) o 8
[AE4£] 17 :400,000 8  23#%&:92,000 33 :40,000 M 437 :28,000H . 5 7 :20,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
_ AARRBIE :27. -1-1- . — EEER (554)
r SA4ZXIA K % 3 512_0 1(2_7)3 1-1-1-1 | 38.0 1 (4_625) ikl A
L:¥xrinMO— B:S14X757— Elize]
o N . BERE A :28. —5-4— . — HEET (A
N : BESFIE: - TR | T B0 2l s
L:dr7—3UT7> BL—RTF 2% 1@
N . FLEFRER : -3-2- - EE® (1)
307]7 Fr)—S v UFH 4 3 o 1.(248).8 3-3-2-2 | 39.3 5 (4_711) EDH&E A
R:TH—FAFAF—XYL B:IYEFYH P2
235 ft 3 | Bt 1:29.2 4-4-3-3 |39.3| — 3 453 | EHEE (5H)
4 4| PITL2RIZ 54.0 2) (-4) ;EE@%% :
R:IAY>H>Fe B:35-Y1xR BEE R
s s jt 3 | EEEh 1:29.8 7-7-7-7 | 38.4| — 8 431 | EFEF (%1R)
5 2| EXTY 3 A51.0 ®3) (19) |HLETE :
LTANWNTTFY— B4 xNR2T T4 EvJILy RT77—L4
=+ = . Yy _ E—
6lalg|Vvovruyoz 8 || R (17;2;3% 8-8-8-8 | 38.1 7 | 474 Eg;m (E#)
R:FHh¥<71228 B:xRh)yIXb—t (+4) "R BE
[ s 3 | oA 1:29.8 6-6-6-5 |39.6 | — 4 467 | DIEE=AR (S£HA)
ZH 6l 7LV~ RId—d— 56.0 (74%) ) |HEREA
LT RIA VL= BERTRLFT2UT RE Kk
“ s iyl :30. —9-5— . - REEE— (55HR)
8lsls|71y—s0-% 4 3 s 1(350)8 2-2-56 | 41.1 6 (4:329) o A
R:J7—3IU7> BN TF7ELTR I NS
@ 1—F—@&BIEf
13=7r= 1,5,7,4,3,6,2,8
Aol=5r= 1,5,7,4,3,6,2,8
30—7+— 1,7,4,3,5,6,2,8
A== — 1,7,4,3,6,5,2,8
[ RN
B OB 1 200/ 714K 1-3 180H B E 1-3 220M &R 1-3-7 550M
% B 1 120 1-7 340 | | B H 1-3 370 | | SEE 1-3-7 1,730M
3 160/ 3-7 380M
7 240M

ABICOVWTRDTEEERROODE. TR LIV,




